EARAROBREBRT —5 XN—ZXBISH—F

2022463888 (A) 18EIAH?2H

I > %%

C3,\Et

\(9&1@1 = ‘[%EH%F&] ~ | 5 1000 &

[AEs] 1 7 :800,000 § 2 3&:320,000

/ 33%&:200,000 1  43%&:120,000 . 5 & :80,000 M

B RS FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
° o4 | KBEZ 1:15.1 10-9 38.7| - 1 526 | BOMBIE (k)
115]10|/SrOR3—=7 &0 =) @3y |TELT A
RiNA40 B:IvNZ—XD 4 RIN— F—L— - IvINY - T7—LBRR
=~ B+ fEE) :15. = . - mRE (CKH)
2111 ersFamy # o | By D G ES IR RN =
RIFVIARZ S BZRFUFPRAA—3 fitaiutie]
» ~ 4 4 | BIHER 1:15.6 5-4 4.1 — 7 465 | A=K (XH)
3 3 ERATU—=2 54.0 (1 3/4) ) THER=
R:New Bay B:EY/F4T7=— Y. lchikawa
W — Ho4 | BARE 1:15.7 11-9 393 - 5 | 407 |®BEK KH)
4 4| 7EYRI—R 56.0 @) () |EEIBF
R:T—=ILRI—-X B:YIHNS T s
. = 1|38 :15. = . - KB ()
51gl15| I—ILTVF A b A5 1(71?:)7 s 104 ? (i?i) BEE
R:O—RAFO7 B:I-LFVI7L/ KRS
_ <5 s 5 | #EEHE 1:15.7 1-1 40.6| — 9 487 | BEIET (KH)
61519 | L—RF¥L VY 54.0 F9) 1) |BERE
RIIART—ILYF— B:I¥—0O—R g
- o Al :15. - . - HAR—K (KFH)
- 5| FLZ—RA—/S— o7 on 1(71?:? 14-13 | 38.8 13 (4_314) s
RZADI A=V 7—R—F 8B:TULAh HBEIT7—L
- —n AN EH : - - BaZER (KH)
8 7 I —tF - 4 9 54.0|_ 1.(1163.0 13-13 39.2 16 (5_143; %‘EV&EEF
RAZAR YR B:T—)VRTTRY 25 Rigs
3 s o4 | HBES 1:16.0 16-16  |38.7| — 14 | 402 |EBR (KH)
o 8| TLTAI-LE #55.0 ) e A=
RIXVUSTvR BFIYIAOI Y ANH &S
. SHE :16. = . - A= (KH)
1001121 /=T a—F+ 6 | oW 1(71?:? 68 ‘ (4_713) S
R:IUA=Y B:FTUEATY INEERY EE
" . o 1) 15 R :16. - . - SHE— (KH)
16| ovyrTnexz %4 | [ A T | EmeA
RAEIWN—T B:H5—FI-5) By hZF—T
» P EEE : - - HEHE (1)
1217(13| 7« T—ILiKR 'Y 5| 560 1('312{)4 N ’ (4_693; s
R:TFUBARIVR B 7y T 4— TOERUS
S _ 4 | WER 1:16.4 15-15 [ 39.4| — 11 | 442 | =IREEEE (VM)
1312 AV /F—X 56.0 N gy | HEAB
RIALNSRYIR B:RFYT7U—-R =g e ]
3 ~ ) s 5 | Gl 1:16.4 6-6 4.8 — 8 447 | WMEFIR (KH)
140 1| BRI VTY 0 %) (3 | BB
Ri/ITURN BYAUYRTE—K NYERNTZ—LA
o SERR :16. - . - {ELRFE— (KFH)
1518116l *A~RUT—IL it 4 A 1(126)8 12-12 | 40.3 15 128)7 ey
R:ZvF—T7A) B:xAO—F BEI7—L
W Y 4 | AR 1:17.8 3-3 06| — 10 | 477 |ISH=E (KH)
1617 (14| YT 56.0 ©) -4) AAIEA
R:7ZAINTGTFH— B:U—RFo A AU
@ 11— —BBIEfI
13—7+—
20—7F—
Sal=zr= 9,13,14,15,3,11,6,1,2,10,4,16,7,5,12,8
43— — 9,13,14,3,15,11,1,6, (4,10) ,2,16, (5,7) ,12,8
o ILRE
B B 10 120M JA R 1-10 940M4 % 5E 1-5 5904 3EE 1-3-10 8,270HM
7B B 10 110 3-10 510/ B 5-1 900 3EH 10-1-3 26,240
1 430 1-3 3,790H 5B & 1-10 2,770
3 400 =51 10-1 4,060

ABIC OV TRUTEREERRODDZE. THRIIZEL.




